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= General Instructions :
(i)  First 15 minutes time has been allotted for the candidates to read the question paper.
- Part ‘A" and Part ‘B’.

The question paper is divided into two Parts

(ii)
(iii) Part ‘A’ and Part ‘B’ are divided into three Sub-divisions a, band c.
aper, there are M ultiple Choice Questions in which correct

In Part ‘A’ of the question p
and then by a blue or black ball point pen, the correct

(iv)

alternative is to be selected

alternative is to be filled completely in the circles ifOMR Sheet.
(v) 1 mark is allotted for each question in the Multiple Choice Questions of Part ‘A
(vi) Part ‘B’ has descriptive questions.

(vii) The allotted marks are given in each question.
All the questions of each Subdivision of Part ‘B’ are to be attempted all at a time. Start

(vii1)
each Sub-division from a new page.
(ix) All the questions are compulsory.
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(C) CaSO,-H,O (D) CaSO, -5 H,U

12, 3@ W6l %1 pH 94 811 & - 1
(A) 1 ()
(Cy 0O (D) 14
13 ufegRTss A weTEteT WE & - ) .
Z
OH B) -C_
(A) .
0
|
(C) C- (D) -C-0H
I
0
JqGUE - 71
4 Pafafes § $1 39T 2 2 1
(a) fFafsat (B) et
(C) 9TeTq IR (D) ®dw
15 W & o e (TT) 37 e (ot) % T HT8 03w, srorm iy ofvd o
(A) H‘ﬁaﬁ‘ﬁ‘}
(B) v ER 9y

(C) ¥ T 3 Y 9 9y
(D) A v o st v s @ o

24 [3 W-7) .

—
&



¢ frtfEa ¥ w7 a S v oy rfr & s fon e 22

(A) e SRS T ST (B) 7 TE S
(C) T T HTEA SIS (D) e SEATFTTE T ATEA
17, mﬂqﬁﬁﬂtgﬂﬁqﬁtrmmg:
(A) T (B) ¥
© (D) afEm
18. W@Hgﬁ“%
(A) eSS 3 g (B) IR TR
©) ¥y R g (D) T EA
19. Sa-famraarg & fugia = g fsa o -
(A) =Ted St (B) IR Hew
(C) e <ot g (D) Ve T, fireR
20. SiraTem o FelA WA E
(A) EA & TS (B) TGS & ATFATEE
(C) UeH ™ HeEss (D) I afi
PART - ‘A’

(A) 40 cm; Concave
(C) 4 cm; Concave

current is expressed as :

index of medium (1) with
(A) v /vy
(C) vy xv,

(Multiple Choice Questions)
Subdivision — a

Power of a lens is —2.5 D. Focal length and nature of the lens 1s :

(B) 40 cm; Convex
(D) 4 cm; Convex

respect to medium (2) is :
B) v, /v

D) v+,

4.  Which of the following statements is false ?
(A) Magnetic field lines emerge out from north pole of magnet.

(B) Magnetic field lines are from south towards north pole inside the magnet.

(C) Magnetic field lines intersect each other.
(D) Magnetic field lines are closed curves.

[n which of the following
(A) Convex mirror
(C) Concave mirror

IFiLIG]

murrors, field of view is maximum ?
(B) Plane mirror

If electric power and resistance are expressed as P and R respectively, then electric

Speed of light in medium (1) and medium (2) are v and v, respectively, then refractive

(D) None of the above
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13.

Total resistance of the resistors of R and 2R Aims, joined in series is R. and in 15’5“'-"‘”el
1

is R,, then
Ry 2 R
(A) =3 (3 1.2
)Ry 9 ' R,72
Ry R
C) 7 =!I Dy —L_1
( ) Rz ) Rz_.g
The number of turns are increased by n #8102 cyrrent carrying circular ©

magnetic field at the centre of the coil is

(A) increased by n times (B) decreased by n times

(C) increased by n? times (D) unchanged
Subdivision - b

The IUPAC name of CH,CH,OH is :

(A) Ethanol (B) Methanol

(C) Acetic Acid (D) Ethanoic Acid

Which of the following is a combustion reaction ?
(A) NaOH + CH,COOH — CH,COQNa + H,0

I
(B) CH,+Cl, “;?;5;‘;’;1“; CH,CI+ HCI

(C) CH,+0,—> CO, +2H,0 + Heat and light
H H
R\ ~ SRH |
(D) C=C/ ——=——R-C-C-R
R / \‘R Ni Catalyst o
R R
On going down a group, the size of atom increases because —
(A) A new orbit is added on going down in a group.

(B) The distance between the nucleus and the outermost oribit remain the same.

(C) The charges in the nucleus remain constant,

(D) None of the above.
The chemical formula of Plaster of Paris 15—

(A) CaSO,-3H,0 (B) CaSO,-2H,0

!
(C) CaSO,-H,0 (D) CaSO,-5H,0

The pH value of pure water remains

(a) 1 ®) 7
© 9 D)
The functional group in Aldehyde is — =
H ® -c? 0
(a) -0 @
0
I
(C) -C- D) -C-0OH
I
O
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14. Which of the following is producer 9 ivisie 1

(A) Birds ‘ (B) Wild animals
(C) Petanimals (D) Green plants

15. Crossing between long pea plants (TT) and dwarf plants (tt), shall yield in first
generation : 1
(A) Alllong plants
(B) All dwarf plants
(C) Halflong and half dwarf plants
(D) Three fourth long and one fourth dwarf plants

16.  Which of the following pair is used in reaction of photo-synthesis ? 1
(A) Carbon dioxide and Oxygen (B) Water and Oxygen
(C) Water and Carbon dioxide (D) Carbon dioxide and Nitrogen

17. Common unisexual male flower doesn’t have : 1
(A) Sepal (B) Petal
(C) Stamen (D) Stigma

18.  Insulin is secreted by : 1
(A) thyroid gland (B) pancreas
(C) pituitary gland (D) testis
The principle of organic evolution was propounded by : 1
(A) Charlés Darwin (B) Gregor Johann iMende:
(C) Amrata Devi Vishnoi (D) Stanley L. Miller

20. On burning, fossil fuel gives : 1
(A) Oxides of Carbon (B) Oxides of Nitrogen
(C) Oxides of Sulphur (D) All of the above

@UE — ‘¥’ / PART- ‘B’ 50

(guiTea® W) (Descriptive Questions)
J9qE — % [ Subdivision - a
@mmﬂﬁm%wmmﬁwmm%mﬁmmm | 39 g4
&1 13 T g fafl | 3+1=4

Draw a ray diagram in order to obtain a virtual image of an object by a concave

mirror. Write down any one use of this mirror. httpsy//www.upboardonline.com A+1=4
5 faeht forew @ v T % Fordeen ) B ot TRt TR | 4
2 Explain the phenomenon of dispersion of white light through a prism by making a

diagram. 4
3. i =51 T T & 7 S TR ) g @ P % Ao 1 ST | 14324
. What is Ohm’s law ? Explain the verification of this law with the help of a circult

diagraff. 1+3=4

824(EP) [6of 81 (W-7)
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4, What is theiphenomenon of electromagnetic
associated with this phenomenon.

OR

Explain tht?, production of magnetic field due to 5 current flowing in a solenoid by
making a diagram. . ¢ P

244=¢

Indyet; : i
UCtion ? Explain Faraday's experiment
2+4=86

m—E/SULdiVision—b
E 2+2=4

) AT THTe sfrfmand

“Xplain the following by giving examples : 7+2=4
Importance of pH in daily life
Exothermic chemical reactions

6. (%) A 3 % 3 THERE i ¥ vent-E g fafee

2
(@) F=fafee = %2 o w8 : (anfe g deo fbfee) 22

(i)  Sfm A @ 97 % G (@i Eren)
(i)  Toroem @ e e e
6. (a) Write chemical equations of two chem®al properties of Ethanoic Acic,
(b) How will you obtain the following : (Write chemical equations) =2
(i)  Washing Soda from Baking Soda
(ii)  Plaster of Paris from Gypsum

7 frgfrfigg & smEn Fif st
Gy are o e TR
(i) T qe Wi
(i) el o afwaar Aot
YAl
(1) e SR T IR gL S 242+2=8
(ii) Sy7egforer T wioft oY ferdeard ferfls:
(iii) Wﬁnﬁmmﬁmmmﬁaammm |
Explain the following :
(i) Cleansing action of soap
(ii} Calcination and Roasting
;\ii"s ) Activity series of metals

2+2+2=0

OR ..
I:xplain addition reaction with exampi_a'. o 242220
Write characteristics of modern periodic 1 i€, c
Wwrite chemical equation for obtaining mercury from cinnabar,
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(1) Write one main function of

e

ohi Xylem in plant

.. ich or e o X

(i1) gtn o ]gan of body ‘Coinper o is placed

which piant did s sl . -

(1) p id Mendel perform his experiment ?

(iv) Give examples of homologous reans

A % SR i )t s i |
Describe double circulation in human beings.
Frafafiga w afira froford fafgo |

(i) i qamEt & gem

(1) qA%EVEs (A

Write short notes on the following
(1)  Conseryanion of natural resources

(n) Regencralion

gaw & Fewm] 6 w0 & o Bfwe |7 FE wE

&)
fPresfrfias o aftre feaforat forftre
(i) T g

(i) TSRS
(iii) fergent Qe
Describe the structure of nephron in kidnev. How does 1t function 7
OR
Write short notes on the following :
1) Autotrophic nutrition
1) ['ranspiration
.11t Chipko movement

B::+AEP [sof8l (W-7

2+2=4

24+2=4

2+2+2 3

i+ 3=H



